8428
Installation Instructions

il




8428
Installation Instructions

@ Aluminium frame

O OO0 O

O OO0 O

O O 0 O
O

e |

O 0

)
o

©
©

a | |
=
® @

backwall glass backwall glass

glass self @ soap dispenser Foot massage



8428
Installation Instructions

Tools for Installation

horizontal ruler driller tape cross screw driver ~ wrench Hexagon ring spanner silicon gun
X A2 A4 A5 g A6
M4x14 M3 :

backwall glasﬂ backwall glass tapping screw aiguille aluminium frame | |cap of aluminium frame
A7
cover for aluminium frame
B1 B2 B4 B6

I </ $ |l o
= M4x15

hand-showeﬂ hose ﬂ Mental Washer Taping Screvﬁ Rubber gasket nut

B7 B8 L B10 B12
(<>
<S> '
- & @
i M4x25
Turning Jomtﬂ S||d|ng bar ﬂ screw nut ﬁ metal washer soap dispenser
B16 B17
‘ 0
Q e || © &
Plastic key glass self rubber gasket metal washer Nut Foot massage
c1 c2 c3 E c4 C5 C6
| M4x8
Up Rail H Down Rail ﬂ Side profileﬂ tapping screvﬁ Side glassﬂ Backwall glass

c7 c8 c9 C10 c11

= . §

_

M4x25
Straight Up R:m Straight Down R:ﬂ Middle profilﬂ tapping screwa



8428
Installation Instructions

D1

D2

(s

D3

O

D4

)

D5

O

door glass ﬂ

Up roller ﬁ

Cover for up rollerﬁ

Down roller ﬂ

Cover for down roller

D6 > D7 D8 D9 D10 D11
door handleg connection of door hanﬂ rubber gaskeﬁ water proof mbbﬂ Attracts the strip Decoration strip
E1 E2 E3 E4 E5
[~ N || ||*(De &) <
[ ]
——— M4x16
tray roof screw metal washer nut




8428

Installation Instructions

Installation Step

——| 9=

horizontal ruler wrench

l. Install the shower tray.

1. Put the tray on the proper place, measure with horizontal ruler.

B \
= N )

2. Adjust the legs till the tray to be horizontal.

J
Il//’/I/))))




8428
Installation Instructions

ll. Install the front part .
1. Connect the up and down rail to the corner profile

2. Connect the straight up and down rail to the corner profile
3. Connect side glass to the corner profile and straight up and down rail
4. Connect side profile to the side glass and straight up and down rail

C1

Cc2

C3

|

C4

&

M4x8

|

Cc7

Pty

Up Rail H

Down Rail ﬂ

Side profile

7

X
tapping screvﬁ

Corner profil

3

Backwall glass

cs

Cc9

=

— | |t

L —

A3

N\

B—

7

Straight Up Raﬁ

Straight Down Rﬁ

aiguille

!

cross screw driver

driller

Cc4

C3

c4

C4

A3

c4

A3

c4

C4

O

c7

Cc4

C5

C4

C4

C2

ca C4

c4

C4

c4



8428
Installation Instructions

5. Connect fixed glass to corner profile and middle profile, then Insert the spline
with wooden bar.

(o c2 c9 c10 c5
e | | e § 1y
MMMMM

Up Rail H Down Rail ﬂ Middle profile W

N el

tapping scre Side glass

aiguille ﬂ cross screw driver driller




8428
Installation Instructions

V. Put the glass room upright on the tray.

0




8428
Installation Instructions

V. Install the spare parts on the backwall glass.

1.
B1 B2 B3 B4 B5 B6
| 0 |.¢ || e
- M4x15
hand-shower hose Mental Washer Taping Screw Rubber gasket nut

B7 B8 B9 B10 B11 B12
@
(5)
<S> T
== 5 &% ) il
M4x25 <=
Turning jointﬂ Sliding bar ﬂ screw er er

B13

nut metal wash soap dispens

e

o) ||[=—

Plastic key ﬂ cross screw driver




8428
Installation Instructions

2.
B14 B15 B16 B17 B18
T © | © [D
glass sel If rubber gasket metal washer Nut Foot massage
1

\




8428

Installation Instructions

VI. Connect the backwall glass with side profile and tray.

A1 A2 A3 A4 E1 E3
S \ —\
M4x14 M3 M4x16
backwall glass || backwall glass tapping screw aiguille tray screw
E4 E5
© N g =— || &)
metal washer nut driller cross screw driver| | hexagon ring spanner

o -

MES A%

MES A3

M}a A3

= ]

IR PR
I = =




Installation Instructions

8428

VIl. Connect the aluminium frame with the backwall glass.

A1

A2

&

M4x14

A5 g

-
=]

A6

—

backwall glasﬁ

backwall glass

tapping screw

aluminium frame

cap of aluminium frame

B=H—

cross screw driver

A3

A8

O O 0O O
O O 0O O
O O 0O O

e ]

o
O O
C

© ©
© ©




Installation Instructions

8428

VIIl. Connect the roof with cabin.

1

E3

E3

E2 E3 E4 E5
o(De E &) & || =]
= M4x16
roof screw metal washer nut gon ring sp
ES i B — = Bn <S> He
E4 E4 & ¢ E4 S E4dS
e
2 2 N ) X
E4© E4© E4© E4 @\h
E3

EDES
@E4

1

DE4
E3



8428
Installation Instructions

IX. Assemble the rollers and door handles
to the door glass.

D1 D2 D3 D4 D5
door glass Up roller H Cover for up roIIerH Down roller ﬁ Cover for down roll:ﬂ
D6 @ > D7 D8

door handles

rubber gasket

cross screw driver
D2




8428
Installation Instructions

X. Put the door glass into the up and down rail.




8

428

Installation Instructions

Xl. Insert the water proof rubber to the door glass
and put the covers on the profiles.

D1

D9

D10

1 |

D11 ﬂ

door glass

water proof rubber Attracts the strip

Decoration strip

D11

D10

| -

D1

D9




8428
Installation Instructions

XIl. Connect the water and electricity circuit

A7




8428

Installation Instructions

Xlll. Glued the glass room, roof, tray and wall up with silicon.

Xy,
/|

silicon gun

Silikon




8428
Installation Instructions

STEAM GENERATOR INSTALLATION MANUAL

(Steam Optional)

STEAM  WATER
ouT IN

STEAM
GENERATOR

GENERATOR
Ce

ouTt

Install position .
Power wire

Date&signal wire

Trouble Shooting:

Trouble Possible causes Solutions

1. unfinished heating 1. Wait till heating completed
2. water shortage in the steam generator. 2, Check water-intake electromagnetic valve
3. the temperature in the showerbox. 3. Reset temperature

No steam 4. failure of water level probe. 4. Replace water level probe.
5. failure of over-heat protector. 5. Replace over-heat protector.
6. Failure of the heater of the steam generator. 6. Replace the heater.
7. Jam or break of steam output tube. 7. Eliminate jam or replace tube.




	页 1
	页 2
	页 3
	页 4
	页 5
	页 6
	页 7
	页 8
	页 9
	页 10
	页 11
	页 12
	页 13
	页 14
	页 15
	页 16
	页 17
	页 18
	页 19

